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Abstract

The paper deals with Roemer 's claims that the Marxian theory of
surplus value is logically faultv and should be considered the special
case of his own "general theorvy of exploitation® (the "GTE"). It is
shown that Roemer’'s model and theorems implicitly confirms the main
point of "Das Kapital™: profit does be the converted form of surplus
value produced by working class under capitalism.

Introduction

it is widelv acknowledged that the central problems with which Marx
wrestled are still with us (e.g., see [1, p.51). Marx’'s methodological
achievements, however, havé not vet been fully adopted by some modern
streams of economic thought [2, pp.7-151.

From Roemer ‘s point of view, "the definition of expleoitation in
terms of property rights is not only more general than the surplus la-
bour definition but is a better definition as well, due to the concrete
institutional alternative which it poses" [3, p.2181.

In particular "a coalition is considered capitalistically exploited
if it would be better off with access to its per capita share of socie-
ty’s alienable assets (means of production, resources)” [4, p.2071.

We confine ourselves in this paper to consideration of the capital-
ist exploitétian abstracting from the reduction of skilled labow to

simple one.
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1. A Subsistence Economy With Labour Market

Let us consider a key model of "pre-capitalist economy" with iabour
mafket, paying attention to relevant conclusions derived- from the ana-—
lysis of models of pre-capitalist economy with no labour market. We'll
follow Roemer’'s termiholpgy and notation {(see [3, pp.33-861).

There are a certain number of private - commodity producers
(VM = 1,004y N)u They all have onée unit of labour power to dispose
of, but they possess, in general, different vectors of produced goods
cwVe M.

All producers have the same subsistence. requirements, a vector
b€ R?. There are markets for produced goods and for labour power, but
there is no credit market. Each producer can choose to operate produc-
tion activities on his own, hire labour to operate them, or sell his
labour power for a wage.

Subject to the goal of subsisting, each +tries to minimize labour

performed. In this model A is an nX n commodity input—output matrix of

activities, L is an 1X n row vector of direct labouwr input coefficients,
xve RT' is the vector of activities that the owner ) of the means of
production operates himself (there are n processes in the Leontief
technology), yvélﬁz‘ is the vector of activities V hires others to op-
erate, Qge R, is the amount of labour time )V sells, a scalar.

Commodity input Aj (the j—-th column of A) and LJ units of labour,
measured in producer—days, are the same for all producers.

"ASSUMPTION 1. A is indecomposable and L > 0" [3, p.281.

S n
Facing a commodity price vector pe Ry and wage rate weE€R,, each

producer will “choose xv, yv, Qy to
. v .
min Ls + X, subject to
v v V. chsq s .

p(I - Ax + (p ~(pA + wlkldy + WX 2 pb (reproducibility), (Fi)
pAlx + vy ) £ pcuo (feasibility), (Fii)
Ve Y g1 (length of working day), (Fiii)
xv,y\hxgg'm" ES, p 63]. Here and below I is & unit matrix.

According to Roemer, (Fi) states that net revenue should not be ex—



3N

~eeded by the cost of subsistencé. (Pii) is the capital constraint. A
producer need not possess the endowments in physical form, that he choa~-
oses to use, but he must be able to ’;:rade for them before production
starts. (Piii) is the guantity constraint on the labour supply of the
1nd1v1dual. Wages are paid out of revenues, not in advance. v

Let @ (pwW)z= {(xv,yv.yv) solving this program}. Vectors in @ {(p,w)
are individually optimal [3, p.641.

"DEFINITION 2.1. A RS (reproducible solution - A.R.) in the economy
g(p,w:A,L, 031,...,00 ), oOr 8 (p,w), is a price vector (p.,w') and asso—

c1ated set of options such that.

(i) V'\) (xu,y % )Ea (pyw) .

(ii) (t,y) 2 Atk + y)+ Nb, x =;§ xv, y = zgy\)(reprodu:ibility),
(iii) Al + y) £ WE Zwv(feasibility),

{iv) Ly = xcE ny (labour market eguilibrium)® [3, p.é41.

Markets are veiwed as operating at two points in time. At the be-
ginning of the period trades take place on the market for production
inputs and labour power. At the end of the period trades take place ‘on
the market for consumption goods. "The difinition of a reproducible so—
lution, an eguilibrium, for this model is analogous to the previous one.
A price-and-wage vector equilibrates the system if, when all producers
optimize., aggregate production is feasible, global reproducibility is
achieved, and the labour market clears. That is, the markets for inputs
and conéumption goods all clear” [4, p.1911.

Elaborating the definition. of the “Marxian exploitation” Roemer
calculates & vector of labour values, or embodied labour, as A\= LI
- 9;1 . He defines socially necessary labour time (SNLT) as the amount
of labour time embodied in the subsistence bundle each producer consumes
tAb). At "“inegalitarian solutions", producers who work longer than Ab
are "exploited" and producers who work less long are "exploiters“. There
is no "Marxian exploitation“ at the egalitarian solutions where
L<v+ n,=Ab for all AV2 [3, pp.3B-34, 671.

Following: Proudhon, maybe unconsciously. Roemer explains “"the Marx-—
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ian exploitation” by unegual  exchange [%, p.38]1. This explanation is
based upon the model of pre—-capitalist economy with no labour market
é;(p) [3. pp.33-341.

“THEOREM 1.5. Let ) & AT - Al . Let p be a RS. Then p~ASp
is egalitarian. (p~ A means p is proportional to A.)“ E3y p.Z67.

It has been proved that for models ES(pgw) and ES(D) the "capitalist
exploitation" coincides with the "Marxian" one [3, pp.202-2061. The
following assumption is done in order to eliminate some indeterminacy in
YV s choice.

"ASSUMPTION 2 (NBC). Let (pyw) be prices such that
v_ V_ o.

E R

o Then among the

a(xv,yv,xy)é Ci (pyw), for some }) , such that
optimal solutions to his program, ) chooses a solution yV which minim-—
izes his capital outlay pAyo.

A producer who operates in this way is a nonbenevolent :agitalist
(NBC): a "capitalist”, since he only hires others; nonbenevolent, since
he chooses to circulate the minimal amount of capital to achieve his
zero work time, instead of circulating more and thus possibly creating
additional employment" [3, p.&51..

"LEMMA 2.1. Let (p,w) be a RS for 2;(p,w). Assume NBC. Then: \f\),

p(I -~ A)£v+ (p ~(pA + Lw))yv+ wxy= pb" [3, p.éé&d.

"THEOREM 2.1. Assume MBC. At a RS (p,w) of Eg(p,w):

¥+ y = (1 ~ ard ey , (a)
Ly bos = NAB Y
««.Hence total work time at a RS in Eg(p,w) is, as in &;(p), precisely

socially necessary labouw time. As in é;(p), we can, therefore, speak of
a RS as being egalitarian if all producers work A by and inegalitarian
and exploitative otherwise" [3, p.&71.

2. An Analysis of the Premises of the Model

The model reflects autonomy of producers as private owners. Every
commodity can be produced by different agents. So the model EB(D,W) does
not avoid the essential peculiarities of free competition (intra-~ and

intersectoral), and yet methods of competition have been reduced mainly
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to a choice of an assortment of commodities.

To some extent Roemer pays attention to contradictions of private
commodity production. The condition (ii) of a RS means that there is no
avarantee even for simple reproduction, say nothing abgut reproduction
on the progressively increasing scale. Conditions (iii) and {iv) tell us
the implementing of individual plans is also problematic. Still,  the
necessary and sufficient conditions for a RS to be not only potential
but also realisable equilibrium have not been explicitly formulated.

Roemer postulates that all use-values produced are — at least po-
tentially - exchangeable on the market. Moreover, every producer can
theoretically buy or sell labour—power. Hence in the model é; {(p,w) alil
products and labour-power could take the form of commodities. In facf,
it was capitalism that actualized this possibility. We think the "as— |
sumption NBC", however, contradicts both the objective aim of capitalist
production and the subjective goal of a capitalist.

The model é;(p,w) is based upon a price vector (p,w). The market is
presupposed and this premise excludes a participation of all producers
in natural economy. Yet there are no markets if every producer’s initual

v -
endowment is sufficiently large: W A§D= A(I - A)i b, L§°= L(x

- AfJ bz 1, xv @, xvé 1. Then the optimal sclution (§:= yv= a, §°= (I

i

- Qf. B) is achieved without exchange, but this contradicts the assump-
tion of the existence of prices.

Honestly, the usage of assumptions which have not been explicitly
stated means that the model and the theorems derived from it are incor-—
rectly interpreted by the "GTE".

Roemer ‘s conception does‘not distinguish between two meanings ﬁf
socially necessary labour time (SNLT) considering the magnitude N/\b. If
supply corresponds to demand this magnitude is the amount of SNLT Ffor
production of consumer goods for all economic agents. One should not,
however, restrict himself only to this meaning of the term "SNLT"  for-
getting the other one: the amount of lébour necessary for production of

the particular commodity labour-power (see [5, p.2@81).
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3. The Capitalist Exploitation

This mixture prevented the American economist from  uncovering the
difference between necessary labow and surplus labouw of the working
class under capitalism. From his point of view, the following theorem is
fthe analog of theorem 1.5... for the economy with labour market"
[3, p.&81.

"THEOREM 2.2. Assume NBC. Let w2 A(I - A)—(Nb). (py,w) is & RS for
E;p,w). The following are equivalent:

(A) Possibility of positive profits {FPF) (i.e., p # MJA)-

(B) Existence of exploitation at (p.w).

(C) Some producer does not work.

Theorem 2.2 can be thought of as a "Fundamental Marxian Theorem"
(FMT) for this economy, as it shows that exploitatinn is equivalent to
the possibility of profits" [3, p.&6%3.

Notice that at a RS hired labour seems to be fully paid. Profit,
considered a result of the unegual exchange, is not associated with un—
paid surplus labour and surplus product.

Obviously, the requirement p = uxA is stronger as the reguirement of
p“'A, therefore theorem 2.2. is hardly "an analog of theorem 1.5".

Let us demanstrate that principles of the theory of surplus value
can be derived with a help of Roemer’'s model E;(p,w).

For thebsake of simplicity suppose that workers are absoclutely de-
prived of the means of production and sell their- labouwr-power to capi-
taliséé who are not working at all. Let {(p,w) be a RS for E; {p.w) such
" that p >0, w0 gnd let there markets be in equilibrium.

The number of workers and the number of capitalists will be indi-

cated by symbols N, and N, , respectively (Nl + N, = N).

i 2 2
We assume the vector b corresponds to the necessary needs of a
worker and his Ffamily, and there is no difference between consumption

bundles of workers and capitalists.

The optimization program of worker }L can be written as:
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min'xib subject to

Wi xpb ) ) (P
. (Piii)
The optimization program of "nonbenevolent capitalist® V is:

min-péyv subject to

{(p — (pA + wL))yv z pb {(Pi)
pAY L p oao , (Pii)
vViee .

It follows from the Lemma 2;1 that the condition (Pi) is satisfied
as the equality for all workers and capitalists. By Theorem 2.1,

.o
y = (I -~ A) (NbY = (I ~ A) (Nfb + sz) ' (1)

x°=N/\b=Ly=N1/\b+N2/\b . (2)

(1) states that net national product is produced in the necessary-
and sufficient amount for workers and capitalists consumption, (2) im—
plies the total consumption fund embodies the whole of labowr input.

The necessary labour time for reproducing the social labouwr power
equals N1A|D. The amount of surplus labour time equals Nzl\b. By (2,
expenditures of living labour in toto are equal to the sum of the ne-~
cessary and the sﬁrplus labour time.

The necessary product, Nib’ embodies the necessary labour of the
workers, NlAb, and can be bought by them:

wr, = wLy = Nipb . 53}

The swplus product, N b, embodies the surplus labour of the work-
ers, Nz/\b, and.can be bought by the capitalists:

(p = (pA + wL))y = Napb . (4)

Hence the amount of profit on the scale of the economy as & whole
eéuals the sum tntal.of the prices of the surplus product which embodies
the surplus value that the working class has produced in toto. In  other
words, capitalists profit is the transformed form of surplus value,

It can be easily shown that in this model at a RS being general

economic equilibrium the capital embodied in the product is completely
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replaced and refurns to the class of capitalists, while the labour, em-—
bodied in it, is not completely replaced for return to working. class. It
is precisely the capitalist exploitation as the specific production re-
lation.

The equivalenceAuf both Roemer ‘s definitions of exploitation ("cap~-
italist" and "Marxian") +or models E;(p), é;}p,w) frees us fromlthe
necessity to prove that his interpretatian of the capitalist exploita-
tion is contestable as well.

Conclusion

This paper has been written in the genre of anti-critique found most
suitable for iliustrating vitality of Marx’'s ideas and logic for eco-
nomic modelling. Our critique, however, only stresses the point that
Roemer s conception provided the useful formal structure for the given
demonstration.
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